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BCWS=550 ACWP=480
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BCWP=100+300+50=450

CV=Cost Variance= BCWP- ACWP=450-480=-30

SV=Schedule Variance= BCWP- BCWS=450-550=-100
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*Schedule Performance Index (SPI)

BCWP = 450 = 0.81
BCWS 550

{ > 1.0 indicates more work has been completed than scheduled to date}
{ < 1.0 indicates less work has been completed than scheduled to date}

 Cost Performance Index (CPI)

BCWP = 450 = 0.93
ACWP 480

{ > 1.0 indicates that work accomplished has cost (ACWP) less than planned}
{ < 1.0 indicates that work accomplished has cost (ACWP) more than planned}




